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An example of verification of communication protocols with CafeOBJ algebraic specification language is
shown. The SCP communication protocol is a simplified version of the ABP communication protocol, which
uses unreliable cells as communication channels between senders and receivers. The reliable communication

property is as follows: when a receiver receives N packets, they are the first N packets that a sender has
sent and the order in which the N packets has been sent is preserved. Described is the verification with
proof score that the SCP communication protocol satisfies the reliable communication property.
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oo

o IO0OOOOO0OOOOOOOOOODODODDO
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2 SCcpOogooooOOO

000000000 (sender) DOOODO (receiver)
oooooooooo0 (Dobooo)oooo (o1
o0)yoouoooUoooUooOoOoooOoooOooo
gooodoobooooobooooooobobooood
200000000010 (eelll) DODDDOOOODO
0000o0o0o0oOoooOoo 10 (eell2)0ODO
goboooOooooooooooooooooooon
oooooooOoptl000O0O0O0000000O0
00 bit200000000000000000 list
good
gbooooobooooboobo ocooboobooobooo
gbobooooooooo

e sendl00 0 O0OODO (bitl,p;) O celll 0O O

oboobodoOp; 0000000000000
oono

e reclJ00000cell200000000000O0

ooo00o00oooo0Opitl 0000000000
gooooooooboOoooooeitiobooon
+00010000

e send2000000bIt20 cell200000

e rec2000000celll D0ODDODOODODOOOO

gooooooooooooooobit2000
gbooooobooobooboooooooooo
o0 2000000 Ilst00000bRIt2000
oono

O000000bitl O bit2000 f(alse) 004 O
000celll O cell200D0000Lst 000000

0000000000 SCP(a Simple Communi-
cation Protocol) 00O 0O
o0ooooo scepO0O0O0O0O0O0O0O0O0 100000

X{EE ZEE
ell

send1, A
_)‘| <X, p;> | %
\ J

1 cell2 - "
¢ rec { y | [send
SISl

bit2: y

list: Py,Pys.-s Pis

bit1: x
index: i

01 SCpoOoopoooooOooO

00000000000 .-,00000000000
0000rO0000000O0O0OO0O00O0O0O0OO
00»,00000000000000000000
00000000000000000000000
00000000000000000000000
000000000000000000000000
000000000SCPOOOOONOOODODOODO
CafeOBJ[2][3)00000000000000SCP O
CafeOBJ 00000000

3 SCP O CafeOBJ OO OO0

SCPOOOOD0O0OOO0O0OOO (435000
0000000000000 CafeOBJOOOO0
000

3.1 SCpOOOOnOoOOd

SCeO00OO0OOO SCPOO0ODOOODOOODDOO

000 Sscp000000Sscp 0O0O0O0O0OOODO

OscpO0000O0DO0OO Zscp OODOOODOODOO

Tscp 00000 OscpO0Zscp 0OO Tscp DO OO

gooooog

Oscp £ {bitl : Sys — Bool, bit2 : Sys — Bool,
celll : Sys — PCell, cell2 : Sys — BCell,
index : Sys — Nat, list : Sys — List}

Tscp 2 {s0 | bit1(sg) = false A bit2(so) = false A
celll(so) = empty A cell2(so) = empty A
index(so) = 0 Alist(so) = nil}

Tscp = {sendl : Sys — Sys, recl : Sys — Sys,
send?2 : Sys — Sys, rec2 : Sys — Sys,
dropl : Sys — Sys, drop2 : Sys — Sys}

000 0O Sys Boold PCelld BCellO Nat 0 O O List
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O000000Sscp DO0O0OOODOOOODOOODO
0000000000000 00OoOoooooooon
000000000000 dbOempty 0000000
nil 0000000000
O0O0O0ODO OOD0ODO bitlOdbit20celllOcell2 00O 0O
list 0000000000000 bitlObit20 celllO
cel2000 list 0000000000 indexOODO
00o0oooo (04000000
00000 0000 send1l0OreclOsend2 00O rec2
0000000000000 send10recldsend2 O
OO0 rec2000000dropl 000 drop2 0000
gd0oooU0pooUoooUOooooooooooo
0000000 2000200000000000A0
gopooooooo

e droplUcelll D0 ODODOOOODOOODOOOO

O0O0OCcelll DOODODODO
e drop20cel2 0000000 OOODOOOOO
O000OCOCQOcell20000D0DO

Sscp 0000D0OOO0ODOOODDOOO sODODO
O0oo0O0oO0oOOO0o0ooO0oopoooUogooooo
00000000 000oO00ooOooooooooon
O0D000000Sscp O CafeOBJOODOOOODO
00000 (3.30000)0

Sscp 0 CafeOBJ 00O ODOOOOOOODOO
00000000 PCellDBCelldNat O OO List
O CafeOBJ OOOOCOOOO

3.2 00000 CafeOBJOOOODO

oobooboooooooooooboobooooooon
oobooooogooo
00000000 ceLL0 oooooooooooo
ooooooooooboboooon
mod! CELL(M :: EQTRIV) {

[Cell]

op empty : -> Cell

op ¢ : El1t.M -> Cell

op get : Cell -> El1t.M

op empty? : Cell -> Bool

op _=_ : Cell Cell -> Bool {comm}

var C : Cell vars X Y : Elt.M

eq get(c(X)) =X .

eq empty?(empty) = true .
eq empty?(c(X)) = false .
eq (C = C) = true .

eq (empty = c(X)) = false .
eq (c(X) =c()) =X =1Y)

O000MOODOOOOOOOO EQTIRIVOOOOO
oooooo
mod* EQTRIV {

[E1t]

op _=_ : Elt Elt -> Bool {comm}

U0 empty UDOOO0OO0ODOOO cOOODOO
O0000000000d getOempty?00 00O _=_0O00
goooboboboboooboobuooboobooo
Jo0ooo0ooboboooboooobooooooooo
gooog 20b00b0obbbobobobooboooa
Joooooooooooooooooooooo
ggo
000000000 LIsSTO DOooooooooo
goboooboboooobooooobo
mod! LIST(M :: EQTRIV) {

[List]
op nil : -> List
op __ : El1t.M List -> List

op hd : List -> E1t.M

op tl : List -> List

op _=_ : List List -> Bool {comm}

vars L L1 L2 : List vars X Y : El1t.M

eq hd(X L) =X . eq t1(XL) =L .

eq (L = L) = true .

eq (nil = X L) = false .

eq (XL1=Y12) = (X =Y and L1 = L2)
}
O0nil000000DOOOODO__O0DODB0O00O
Oo0o0oO0oooOo000000 dOt1000_=_000
ooo0ooooOO0OO0o0O00ooooooooooon
ocooooooooobOOoOoOoooobooobDboOooon
o000 200000000000000000DO
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obooboobooboooobooboooobooona
ooo

0000000 PAIRD ODOOOOOODOOOOO
ooooocooooooobooon

mod! PAIR(M :: EQTRIV,N :: EQTRIV) {
[Pair]
op <_,_> : El1t.M E1t.N -> Pair
op fst : Pair -> E1t.M
op snd : Pair -> E1t.N
op _=_ : Pair Pair -> Bool {comm}
var P : Pair
vars X1 X2 : El1t.M vars Y1 Y2 : Elt.N

eq fst(< X1,Y1 >) = X1 .
Y1 .

eq snd(< X1,Y1 >)

eq (P = P) = true .

eq (< X1,Y1 > = < X2,Y2 >)

= (X1 = X2) and (Y1 = Y2)

}
O0<_,>000000000000 fstOsndaOO
U =000000000b0o0o0o0bo0obobobo
020000000000DOO0OODbOObOD 20
goodbooobooboobooboobooooo
gboboobooboooooooooo
Ub0obOo0o0 PNATO ODODOOOOOODODOO
gpoooo

mod! PNAT {
[Nat]
op 0 : -> Nat

op s : Nat -> Nat
op _=_ : Nat Nat -> Bool {comm}

vars X Y : Nat

eq (X = X) = true .

eq (0 = s(X)) = false .

eq (s(X) =s(¥)) =X =Y
}
OOobbOOOOOOOOsOOOODOOOOODOD
000000 s(n)DOD0O0O0 00 1000000
n+100000000000 sO0000 (successor
function) 00000000 _=0000000 20
ooo0O0o0o0ooooOoDO0O00000ooobOOoDn

ooopooooooooooo
00000000000 0O0O EQRooLD OOOO
oobooOooDboOoboOosoOLOOOOOO200
0000ooO0O0DOOoO0bOOoOoO0OooOOO_=_0000
gooooooooobooooobooo

mod! EQBOOL {

Bool Bool -> Bool {comm}

Bool

op _=_ :
var B :

eq (B = B) = true .

eq (true = false) = false .

}
ooooO0OsoOLOOOOOOOODOOOOOOODO
00000 (pr(BOOL)) DO DOOOOODO
0000000000 pNAT-LISTO OOOO0O00OO
oooooooooooooooooooooon
ooo

view EQTRIV2PNAT from EQTRIV to PNAT {

sort El1t -> Nat,

op _=_ -> _=_

LIST(M <= EQTRIV2PNAT) 00 OODOODODOODO
ocobooooboooooooobooboOooboboDbO nODO
O000On00 000 (D0D0ROO00D00OOOO
ocoooooomxkO0OO0O0OO0OOOOOOOOOODDO
ooooooo
mod! PNAT-LIST {

pr(LIST(M <= EQTRIV2PNAT))

op mk : Nat -> List

var X : Nat

eq mk(0) = 0 nil .

eq mk(s(X)) = s(X) mk(X)

}

0o0o0o0ooooo000 oooooooooooo

oooooboobooobooooboooooooo

view EQTRIV2EQBOOL from EQTRIV to EQBOOL {
sort E1t -> Bool,

op _=_ -> _=_

ocoboooooobooooooooooooboooon
oooo
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CELL(M <= EQTRIV2EQRBOOL)

*{sort Cell -> BCell}
O0OD00O cellO BCellOOOOODODOO
000000000 O0O0OoO0OoooOo ooooao
gooo0oooooOooooooooooooodg
O000o0doooo0ooooooooooooo
000000000000 00O00o0ooooooon
ooooOdo0o 200000000000 O0oOd
EQTRIV2EQBOOL O EQTRIV2PNATO OO OO
00o00000ooooooooooooogooo
oooooooooooooo
mod! BOOL-PNAT-PAIR {

pr(PAIR(M <= EQTRIV2EQBOOL,

N <= EQTRIV2PNAT)
*{sort Pair -> BNPair})

}
00000000 00oOO00ooOoooooooon
ooo0OO00oOOoOoOoOooooOoOooogoooooo
0000 BOOL-PNAT-PAIR O OO OOOOOOONO
00000000000 Pair0 BNPair 0O OO0
ooo

000oo0oOooooooooooooooooo
00000o0o0o0ooooooooooooon
view EQTRIV2BOOL-PNAT-PAIR

from EQTRIV to BOOL-PNAT-PAIR {

sort Elt -> BNPair,

op _=_ —> _=_

000000000000 0oooooooooon
gooooooood
CELL(M <= EQTRIV2BOOL-PNAT-PAIR)

x{sort Cell -> PCell}
0000 cellO PCell DO DOOODODONO

3.3 000000000 CateOBJOOOODO
00DbO00000 Ssecpe00O0O0DODODOO
CafeOBJ 00000000000 OO0OO Sscp U
CateOBJOOOOOODODO
Sscp 00O sCPO Sscp DODOOODOODOOOOO
oobooao

mod* SCP {
pr(CELL(M <= EQTRIV2EQBOOL)
x{sort Cell -> BCell})
pr(CELL(M <= EQTRIV2BOOL-PNAT-PAIR)
x{sort Cell -> PCell})
pr (PNAT-LIST)
* [Sys] *
op init :

bop celll : Sys -> PCell

-> Sys

bop cell2 : Sys -> BCell
bop bitl : Sys -> Bool
bop bit2 : Sys -> Bool
bop index : Sys -> Nat
bop list : Sys -> List
bop sendl : Sys -> Sys
bop recl : Sys -> Sys
bop send2 : Sys -> Sys
bop rec2 : Sys -> Sys
bop dropl : Sys -> Sys
bop drop2 : Sys -> Sys
var S : Sys

}
00 init0 Sscp 000000000 OOODOOO
000 (00000000 0)00000U0O0Sscr O
0000000000 00000...00000Sscp
000000 000oOoOooooooOoOoOoOoOoOoo
O000ooo0o0o0ooooooo
00000000 000000000000 init0O
O000oooooooooo

eq celli(init) = empty .

eq cell2(init) = empty .

eq bit1(init) = false .

eq bit2(init) = false .
0 .

eq index(init)

eq list(init) nil .

0000000 Zscp OODODOOO

0000 send1 0000 OO0ODO send1 00000
O000oooooooooo

eq celli(send1(S))
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= c(< bit1(8),index(S) >)

eq cell2(send1(8)) = cell2(S)
eq bitl(send1(8)) = bit1(S)
eq bit2(send1(8)) = bit2(S)
eq index(send1(S)) = index(S)
eq list(send1(S)) = 1list(S)

OO0 reciO000O0 O0O0OO rec1t0ooooa
ogoooooooooo
Bool

op c-recl : Sys ->

eq c-recl(S) = not

celll(reci(S))

empty?(cell2(S))
cell1(S)

eq
ceq cell2(reci(S))
ceq bitl(rec1(8))
= (if bit1(S) = get(cell2(S))
then bit1(S) else get(cell2(8)) fi)
if c-rec1(8)
eq bit2(reci(S))

empty if c-rec1(S)

= bit2(8)
ceq index(rec1(S))
= (if bit1(8) = get(cell2(8))
then index(S) else s(index(S)) £fi)
if c-recl(S)

eq list(reci(S)) list(S)

ceq recl(S) = S if not c-recl(S)

U000 send20 000 0000 send200000

O

O
O

oooooooocoooo

eq celll(send2(S8)) = celll(S)
eq cell2(send2(S)) = c(bit2(8))
eq bitl(send2(8)) = bit1(S)
eq bit2(send2(8)) = bit2(S)
eq index(send2(S)) = index(S)
eq list(send2(S)) = list(S)

000 rec20 000 O0O0OO rec2O00OOOO
ogoooooooooo
Bool

op c-rec2 : Sys —->

eq c-rec2(S) = not
ceq celll(rec2(S))
eq cell2(rec2(S))

eq bitl(rec2(S))

empty?(celll(S))

empty if c-rec2(S)
cell2(S)
bit1(8)

ceq bit2(rec2(8))
= (if bit2(8) = fst(get(celll(8)))

O
O

O
O

O

then not(bit2(S)) else bit2(S) fi)
if c-rec2(S)
eq index(rec2(S)) = index(S)
ceq list(rec2(8))
= (if bit2(S) = fst(get(celll(S)))
then (snd(get(celll(S))) 1list(S))
else list(S) fi) if c-rec2(S)
ceq rec2(S) = S if not c-rec2(S)
000 drop1 0000 OODODO drop1 OO ODODO
ocooooboobooboobooo
op c-dropl : Sys -> Bool
eq c-dropl(S) =

ceq celll(drop1(S))

not empty?(celll(S))

= empty if c-drop1(S)

eq cell2(dropi(8)) = cell2(S)
eq bitl(dropi(s)) = biti1(8)
eq bit2(drop1(8)) = bit2(S)
eq index(drop1(8)) = index(S)
eq list(drop1(8)) = list(S)

ceq dropl(S)
= S if not c-dropl(S)
000 drop20000 OO0DODO drop200000O
ocoooooooobooo
op c-drop2 : Sys -> Bool
not empty?(cell2(S))

cell1(S)

eq c-drop2(8) =
eq celll(drop2(8)) =
ceq cell2(drop2(S))

= empty if c-drop2(S)

eq bitl1(drop2(8)) = bit1(S)
eq bit2(drop2(s)) = bit2(8)
eq index(drop2(8)) = index(S)
eq 1list(drop2(s)) = 1list(8)

ceq drop2(S)
= S if not c-drop2(S)

4 SCpO0O0D0O0O0O0O0DOOOOO

000000000ooscpooooooOO
oooooooooon
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4.1 000000000

ooooooOOoOOODODOO0OOOODOO0O000 list
ooooooooooobobobooooooooao
ooboooooooboooboorc0oboOoOoOOO
gobood
rc(s) = (bitl(s) = bit2(s) =

(index(s) list(s)) = mk(index(s))) A
(bit1(s) # bit2(s) = list(s) = mk(index(s)))

D0000000000Vs : Regep.re(s) 000
00000000000 Rsge, 00Sscp 00000
oboooooooobooboooooobooobooon
0000 rcO Sscp 000O0O0O00OOOOOOOO
ooooobooooboboo sboooouooooboooo
00000 list(s) J00000 00000 index(s)
0000 index(s) —100000000000C0OO
goobooodoooobooooooooobooooaa
ooooooooooooobooooooooboooo
ooooooooooooboooooooooboooa
oobooa

sceoO0OOOOOOOOOO0OO0OOOOO0
Vs : Resep-1¢(s) 000000000000000
CafeOBJ OO0 Vs : Rsgep-re(s) 00000000
oooo

4.2 00O00O0O0O0O0OO
oooooooooobobooooon
mod INV { pr(SCP)
op invl : Sys -> Bool
var S : Sys
eq inv1(S)
= (bit1(S) = bit2(8) implies
(index(8) 1ist(S)) = mk(index(S)))
and
(not(bit1(8) = bit2(S)) implies
list(S) = mk(index(S)))
}
U0 invi00000 000000
Vs : Rsgep-1e(s) DOOOORsge, 000O00O
gbooobooooobooboobooooobooong
obobooooooobooboobooboobooono

{[1-init],

[1-send1]*, [1-recl]x, [1-send2]x,
[1-rec2]*, [1-dropl]*, [1-drop2]+}
implies [inv1]*

02 0000001

oo0oooooooo((Isiooo)oo 20000
00000 (0000000000 40000)00
00070000 (1000000 De6e0O0OOOOO)
Oo0oO0oo0ooroo0o0oO0ooooooooo (O)
000000000000Vs: Rsgep-re(s) 0000
ooo
Oo0D0000oooOoo0O0O000ooooO000ooo
ocooboobooooooooono
mod ISTEP { pr(INV)
ops s s’ : -> Sys
op istepl : -> Bool
eq istepl = invi(s) implies invi(s’)
}
O0sO000000000000 s>000 sODOO
0000000 invi(s?) 00O0O0O0O0O0O0OODO
00000000 invi(s) DOOOOOOOOOO
O0OO0O0OO0ODODOD istept JO0O0O00000O0O0OO
4.2.1 inviOOOO
000000000 U000 ([1-init) DOOOO
cooooboooooo
open INV
red invi(init)
close
000000000CafeOBJ O true0 000
O00D0 rec1O000OCOODODODO OO0OO rect1 O
0000000 ([1-reci]x) 000000 DOODOOO
oo0ooo0oooOooOoO0o0ooOo00oO00o0000
0000000000000 0O0CateOBJ ODDOOO
O000Otrue 00O falseOOOO Bool DO OOODO
OoOOO0OO0OCOtrve00O0OO
O0D000000000000O00O0000o0o0OO0
BoolO 2000000000 OOOOOOOOOO
oobos3b0obooooo
e bitl(s) = get(cell2(s))
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@ ScreenshotO

EEE e
celll
cell?
pitl: f bit2: f
index: 0 list: il

® Screenshot]

wiEE EEE
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hit1 bit2: f
|ndex.0 list: nil

@ Screenshot2
RiE#H

celll

(.05

ceIIZ

bitl: f
index: 0

bitz: t
list: p,

@ Screenshot3

HIEH ZiEH

celll

[E sendE

bitl: f bitz: t
index: 0 list: o,

@ Screenshot4
*iES 2iEE

celll

rec] cell2

4—-t

bitl: 1t bitz: t
index 1 list: p,

@ Screenshotb
wEE ZEE

celll

=5
cell2
t

bitT: 1 bitZ: t
index: 1 list: p,

03 SCepoOonon

e bit2(s) = get(cell2(s))

gobooo3boooooooboooooboooo

1. bit1(s) = get(cell2(s))

2. not(bit1(s) = get(cell2(s)))O

bit2(s) = get(cell2(s))

3. not(bit1(s) = get(cell2(s)))O

not (bit2(s) = get(cell2(s)))

1000 2000000000000 000OO
CafeOBJ O true 000003 00000000
O00O0Otrued O falseJO OO Bool DO OOOO
goooobooooboob0 200b00bDOO0OOO
gooooooobooboobobobo

e bitl(s) = get(cell2(s))DOOOODOODOO

gooobboooobobbooooboboboooo

000000 true00000O0 (1000O0OO
O000)0CafeOBJO true 0000000 OO
e bit2(s) = get(cell2(s))0OO0OOOOOO
O00000000000 true0OO0OOO (2
000000000)0CafeOBJ O true 00O 0O
gooogoo
o0o0ooooscpOOOOODOO (inv2)D OO
gbooooOos3soooboOooboooboooooboOooooon
00000ooo0OD0O000000000 CateOBJ O
true000000000000000 1(OO0O0OO
00000 40000)0000000OOOOOO
o0ooooooooscpooOOOOOOODD
gooad
g030SsCpO000000O0O0OCDOOOODODOD
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ooobooO0obOooOoobOobooobOoDbOooo
o0oOdoO0ooO0oOOo0oOOd0bOoooOoooooooon
Snapshot0 OO0 OO0O00ODOOODOOOOOOOO
00000 (f,po) 00000 0 celll O cell200
00000 (0000D000000)0 Snapshotl O
0000000000 celllDOO (f,po) DOOO
O000O0oDOoo0ooOoooooo fobpit2000
OO000OSnapshot2000000000C0O0OCOODO
cel2000000 fODOOOODODOOOQOO bitl
ooo0oooooooooooooooooooooo
0000000000000 00 (f,po)00O0OO
tOcelll0 cell20000000 (DOODOOOOO
O00)0Snapshot3 0000000000 OOOOO
cel200O000O0tO00DOODOOOODODODOO
OO0 bitl1OOOOOODOSnapshot4 0000000
00000000 celll OO (f,poy000000ODOO
0000000 f0O bhitlOODODOOOOOOOOO
goooooboooboboOoooooooboooooo
0000 (¢,p1) J0000 t0 celll O cell2 000
0000 (0000D00000)0 Snapshots 00O
00000 Snapshotl O Snapshot5 O O bit10 bit20
cellOOO0OO0OO0ODOODODO cell200D0000O0
O0dDOO00O00bO0dO0oOooOOoooboOobDOooo
0 O Snapshot0 0 O Snapshotl 000000000
OO0O00bitlObit20cell DO0O0ODOOOOOOOO
cel200O00D00OOO0ODOODOOOOODOOOO
0 O Snapshotl OO Snapshoth OO0 500000
ooboooooobogoo

00000000 Ocell200000000000
Oo0ooOooOoObitl O bit20000000000
O00ooOo00oo0ooo0oooo0 300000000
ooopoooooo3oboooboobooooooo
(OO000O0)0D0O00O0O0ODUOLDOLOUOO
oobooooooooo

op inv2 : Sys —-> Bool

eq inv2(S) = (empty?(cell2(S)) or

bit1(8) = get(cell2(S)) or
bit2(S) = get(cell2(S)))

ooooOoO00O0 inwwOQooooo
oOooooo0ooO0ooOoOoos3s0ooooooooon

CafeOBJ O true 0000000000000 3
ooboboooooooobooooobooo
open ISTEP

eq empty?(cell2(s)) = false .

eq (bitl(s) = get(cell2(s))) = false .

eq (bit2(s) = get(cell2(s)))

false .
eq s’ = recl(s)
red inv2(s) implies istepl .
close
0000 rec2000000000 ODODODOODO
rec2 00000000 (1-rec2]x) 000000 DOO
ocoobobooooooooobooooboooboooobooo
00000000000 00O00ODODO0OCateOBJ OO
U00000true 00 falseJ O OO Bool O OO
OO00OO0OOOOO0Otrve00OOO
ooboooooooooooooobooooooon
BoolJ 300000000000O0O0O0DODOA400
ooooo
e bit2(s)

fst(get(celll(s)))

e bitl(s) = fst(get(celll(s)))

e index(s) = snd(get(celli(s)))

gooboo4000000000000DOO

1. bit2(s) = fst(get(celll(s)))O
bit1(s) = fst(get(celll(s)))O
index(s) snd(get (celll(s)))

2. bit2(s) = fst(get(celll(s)))O
bit1(s) = fst(get(celll(s)))D

not (index(s) = snd(get(celll(s))))
3. bit2(s) = fst(get(celll(s)))O
not(bitl(s) = fst(get(celll(s))))
4. not(bit2(s) = fst(get(celll(s))))
4000000000000CateOBJ O true O
0000000000000 0000000 trueD
U falseJOODO Bool DO ODOOO
0000000000000 300000oooo0
goooOoOoOoooooooooooo
e bit2(s) = fst(get(celll(s)))I OO OODO
O0000o0oo0oooooooooooooon
000000000 falseOOOOOO (400
O0000000)0CafeOBJ O true 0O OO
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oooo
e bit1(s) = fst(get(celll(s)))OODODO 10
o0oooooooooooooooooooon
oo0o0ooOooOoO0OoOooooooooooo
O000D00ODO0000CafeOBJ O true 00O
falseJOOO Bool OOODOOOODOOOODO
o0o0oo0o0oooooooooooooooon
O0ooooOoooooOoOoOoooo3000o
0000000000 falseJOODOOOODO
00 300000O0)00oOoOoOoOoooOd
00000 (o0oo0o0)oooooooOoo
000000oo0oooo0ooooo30oon
0000000 CafeOBJO true 000000
O0oo0oO0oO0oooo0oo0oooooooo
O000ooooOoOooooooooo
e index(s) = snd(get(celll(s)))DDODODO 10
000 index(s) OO snd(get(celll(s))) O
o0oo0o0oopoooooooooooooon
O0o0o0ooOoOoOoOoOooliooOooooooo
oooooooo0oOoooooooooooon
00000001 0000o0oooooooooo
0O falseJOOO0ODOOOOOOOOO (200
0000)0000CafeOBJ U true 0O OO
00000000000 00000000000
true0 0000000000000 (10000
00)0000CafeOBJO true 0000000
O0o0oo0oOooooooooooooooo
00o00o0o00oo0ooo0oo0oooooooo
O0ooooooooo
000000000 (egbool-lemmal)ld 10000
000000 CafeOBJOOOODOOOOOOOOO
ooooo
fst(get(celll(s)))
= (fst(get(celll(s))) xor true)
0000 falseOOOODOODOODOOODOOOO
00000001 0000000000CateOBJ O
true 0000000000000 OCOOOOOOO
oooooo
op egbool-lemmal : Bool -> Bool .
eq egbool-lemmal(B) = not((not B) = B)

oobobooobobodEeqeooL 000000
ooooooooboboiroooooooooo

CafeOBJ O true 0000000000000 1

ooboboooooooobooooobooo

open ISTEP

eq empty?(celli(s)) = false .

eq bit2(s) = fst(get(celll(s)))
eq bit1(s) = fst(get(celli(s)))

eq index(s) = snd(get(celll(s)))
eq s’ = rec2(s)
red egbool-lemmal(fst(get(celll(s))))
implies istepl .
close
0000 (inv3)D SCPOOOOO (D 300)00OO
celll OOODOOODOODbIL20 celll DOODOOODO
O00000O0OSnapshotl 0O00O0O0O0O0DDOOO
cell 000 20000000000000000OOC
ocooooooooobOOoOooboOoooooboooon
O00oo0oo0o02000000000000000O00O0
2000000000000DODOD(OOOOOO)
oooO0O000o0O0O0O00000000pooo0oo0O0O
ooo
op inv3 : Sys -> Bool
eq inv3(S) = (not empty?(celll(S)) and
bit2(S) = fst(get(celll(S)))
implies
index(S) = snd(get(celll(S))))
ocooooooouo nwooooono
Oo0oo0oo0Oo0oo0o0oo0oo02000000000
CafeOBJ O true 0000000000000 2
ooooooooooooooooo
open ISTEP
eq empty?(celli(s)) = false .
eq bit2(s) = fst(get(celll(s)))
eq bit1(s) = fst(get(celli(s)))
eq (index(s) = snd(get(celll(s))))
= false .
eq s’ = rec2(s)
red inv3(s) implies istepl .

close
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0000 (inv4)D SCPOOOOODOOOOOOcelll
OooOOoDOOO0OO0Obit20 celll OOOODODODOODOD
O0000O0OSnapshotl 0000000000000
OoDOO0OO0OO0Obit1O celllOOOOODOODOODD
ocooooooboOoOoOoo3boboooooboooooon
00000030000000000000O0 (O
oo0o0o0)o0o0oooooooooUooUoo
ooooooooo
op inv4 : Sys -> Bool
eq inv4(S) = (not empty?(celll(S)) and
bit2(8) = fst(get(celll(S)))
implies
bit1(S) = fst(get(celll(S))))
oooooooouo nwooooono
O0oo0o0Oo0oo0o0oo0O003000000000
CafeOBJ O true 0000000000000 3
ooooOoOoo0oooooooooo
open ISTEP
eq empty?(celli(s)) = false .
eq bit2(s) = fst(get(celll(s)))
eq (bitl(s) = fst(get(celll(s))))
= false .
eq s’ = rec2(s)
red inv4(s) implies istepl .
close
inviO00000000 0004000000000
oo00ooo0o0oooo00oo4000000000DO0
ocoooboobobooooooo
Oo00o0ooo0o0oooooooo0oooboono 30
000 inv20inv3 0 inva 00O 0OD0OOOOOODODO
o0o0ISs1ooo0ooo0 40000000000
O0oO0oooo (SIs4a0o0)oooon
inviO0000000000070000004inv2
ocoo0O0o0O00o07000000inv3000000
000000 7000000000 invaO00D0O0OOO
oooroooOooooOooobooooo 4000
0000000000000 0O0O0O (CafeOBJ O
true J000)0invi 0 Sscp 000000000
O00000inv20inv3 000 inva 00O OO0OO
Ooboooooo0oooooo

{[1-init],
1-4-send1]*, [1-4-recl]x, [1-4-send2]x,
1-4-rec2]x*, [1-4-dropl]#, [1-4-drop2],
2-init],
2-4-sendl]x, [2-4-recl]*, [2-4-send2]x,
2-4-rec2|x, [2-4-dropl]x, [2-4-drop2]x,

[

[

[

[

[
[3-init],
[3-4-send1]x, [3-4-recl]*, [3-4-send2]x,
[3-4-rec2]x, [3-4-dropl]*, [3-4-drop2]x,
[4-init],

[4-4-sendl]x, [4-4-recl]x, [4-4-send2]x,
[4-4-Tec2]x, [4-4-dropl]*, [4-4-drop2]x}
implies {[inv1]x, [inv2]*, [inv3]x, [inv4]*}

04 0O00O0OCOOO 4

IS1O0 S1Is400000OopoooooOoOoooon
invi0O0O0OO0O0OD0OO0O0OO00OODOOO0Oo0OO
O00000inviO0000DODOOOODODOOOOOO
O00O000O0oOoDoOoOoIsigSsIs4a00og0ooo
goooooooooboOoboOoOooooDboooo
oO0opoOooSsIs4a00dooOopoooooboOoooo
gooOooOoOos1iggoogogogoooooo
gO0O0OO0ISig0oo0oooooogoosIs4a0o0od
oooooooo

inv20inv3 000 invd 00O O0O0O0O0ODOO0OO
ooo0oooOoooOooDoO stferPO000D0O0O

op istep2 : -> Bool
op istep3 : -> Bool
op istep4 : -> Bool

eq istep2 = inv2(s) implies inv2(s’)

eq istep3 = inv3(s) implies inv3(s’)

eq istep4 = inv4(s) implies inv4(s’)
o0oo00o000O0000o00ob0Ooocoo0ooD00onon
ocoobooooooooooooboobooboooobooo
oooooooooooooooooooooon
000000 (0)oooooUoooooooooo
00000000000 (DooooUoDUDUDO
0)ooooOooOoooooooooooooUooo
000000000000 000000 CafeOBJ O
true 00 falseOOOO Bool DO OOOODOODO
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goooooOoOoooooooooooOooooo
00 CafeOBJ O true 00 false 00 OO Bool O
gooo0ooOooooOooooooooDOoOOooon
0o000000000oo0ooooooooooooon
00000o0o00o000oooDOCbinv1i0O0O0O0O
Orecl10000000O0ODO 300000000O0OO
goscpodoOopoOoOoOOoOoOoOoOoOoOoOoOoDoOoO
doooUoo0oooooooUoOoDOo (oooo
0)0o0oo0ooOoooooUoUoOOooOoooOUD
gooooOooooOo00oopooOooDoOooOoooo
0o0000000o0ooooOOoooooooOoooon
goooooOo0oO0oooooOdooooOoooo
000000 (oOoooscpODOUDOOUOD
0)0ooooooOoooooooooouoo
J0000D0O000O0CateOBJ O true OO false
O00O0OBool0OOIOOOOOOOOOOOODODO
000000oO0ooO00oooooooooooo
oo0oooooooooo
000o0ooooooono ooooooooao
CafeOBJ O true 00 false 0O OO Bool O
0o0o00o0o0ooooooooooooooooo
oo0oooOooooooo (oo)yoooooo
000 (O0oo00)0DUoOoUooOOoooo
goooO0ooooOoOo0oooooooooooo
0000o0oooooooooooooon
CafeOBJ O false OO0 O0OO0OO0OOOOOOOOO
00o00oooooooooooooooooooon
o0 (0)ooUooooooOooooooooo
000000000 10000ooooooooo
goooooooooooopooOooooooo 1o
0oooooooooooooOoOo1000o0ooo 2
ooooU0o (booo)ooooooooooo
o0o0o0o0oo0oooO0U (o)yooooOoo
goo0o0oO0o0o0oOoopooooOoooooDoOoOooo
0oo000000oooDo0oDOoOooooooD 1o
0040000000000000000 QlockOO
0000000000o0ooooooOooOonQ inv20O
0o000000000oo0ooooooooooooon
g0ooodooooooooooooooooooo

{pc(s,k) = wt,top(queue(s)) = k,
i =k, (j = k) = false}
0000o000o0ooooooooooooooo
00000000000 jOo000 esODOOOODO
00 pc(s,j) =ecs000000O0O0OCOODODOO
0o00000o00O0o00oo0oQlockBOOO0O
0000 inv20000000000000000O0O
goooooooOoOoooOoooOoooOoboooo
000o0oooooooooooooooooooo
goo0oo0oo0o0o0o0oooooo0oo0O00o0ooooo
0000o0o0oooUo0oUo (Dobooooo)o
go0ooo0ooooooooooooOobooooo
o000o0oooo0o0ooooOooooooooo
ooo00ooooooooo0o0oD ooood
O0000CafeOBJ O true 00O false OO 0O
OBoolJOODOODOODOODODODOODDODOOO
00000000000 OoDUoOoOoOO A0O)
000000000 BOOoOoooo)oooo
000000000000 (Dooooo)oo
0o00o0o0o00o0oo00oon0n0 AuB
O00o0o0ooo0oOOo0oooooooooo
oooooog
0000000 BOOOOOOODODOOOOOOOO
00o0ooooooOoOooooOooooooOoUooo
4.2.2 inv30000
O00invd3 0000 (D0O0)0D0O0O0O0OOOO
op istep3 : -> Bool
eq istep3 = inv3(s) implies inv3(s’)
0000 rec1 000000000 OD0OO rec1O
0000000 ([3-4-recl]x) 00O DOOOOODO
goooooooooooooooooOoboooo
0000000O000ooOoOoOOcCateOBI OODO
O0000O¢true 00O falseOOODO Bool OO OO
00000000true000O0O
oo0oo0ooobo0ooo0ooo0oooooo
Bool D 2000000000 DOOOOODOOOOO
ooo30000000
e bitl(s) = get(cell2(s))
e bit2(s) = fst(get(celll(s)))
00000 300000ooooooooooo
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1. bit1(s) = get(cell2(s))

2. not(bitl(s) = get(cell2(s)))O

bit2(s) = fst(get(celll(s)))

3. not(bitl(s) = get(cell2(s)))O

not(bit2(s) = fst(get(celll(s))))

1000 30000000000000000
CafeOBJ 0O true 0000 O0200000000
OO000trued O falseOOODO Bool DO OOONO
200000000000000000O04nv1 00O
0000000 rec1 00000000 0OOODOOO
oooo
0000 (invs)D SCPOOOOODOOOOOOcelll
O0000000bit20 cell00OOO0OOOOOO
O0000O0OSnapshotl 0000000000000
O00000Ocell200000000ObIt1 O cell20
00000000000000000Ocell2000
0000000000 20000000000000
200000000000000 (DODOOO)OO
O000oOoO000ooooOoOoOooooOoOoooo

op invb :

eq invb(S) = (empty?(celll(S)) or

Sys -> Bool

empty?(cell2(S)) or
bit1(8) = get(cell2(S)) or
not (bit2(S) = fst(get(celll(S)))))
OoooOOoOo0O00 woooooo
ocobooooobooobooo2000000000
CafeOBJ O true 00000 O0O0OODODDODO 2
oooooboooooooooooono
open ISTEP
eq empty?(cell2(s)) = false .
eq (bit1(s) = get(cell2(s))) = false .
eq bit2(s) = fst(get(celll(s)))
eq s’ = recl(s)
red inv5(s) implies istep3 .
close
inv300000000 00000 inv1i 00000
ooooooooos0000000000000
O00o0Ooo0O0OsS0000000000000D0
oooobooogo

{[1-init],
[1-5-sendl]x, [1-B-recl]*, [1-send2-5]x,
[1-5-rec2|*, [1-5-dropl]*, [1-5-drop2]x*,
[2-init],
[2-5-sendl]x, [2-5-recl]*, [2-5-send2]x,
[2-5-Tec2]*, [2-5-dropl]*, [2-5-drop2]x,
[3-init],
[3-5-send1]*, [3-5-recl]*, [3-5-send2]x,
[3-5-rec2]*, [3-5-dropl]*, [3-5-drop2]x*,
[4-init],
[4-5-sendl]x, [4-5-recl]*, [4-5-send2]x,
[4-5-Tec2]x, [4A-5-dropl]*, [4-5-drop2]x,
[6-init],
[6-5-send1]x, [5-5-recl]*, [5-5-send2]x,
[6-5-rec2|*, [6-5-dropl]*, [5-5-drop2]*}
implies {[inv1]x, [inv2]*, [inv3]x, [inv4]x,
[invb]*}

065 00000000 5

ooooobooobooobooobonf invs 0000
ooooooOoDoDOO0OO0 SIs4a0000000 50
oooboooooooooooboooooag
oo0oo0oooo0000 inv20inv4 OO0 invs O
oboobooobooobOb0b0iv200000000
invd00invaJ0000000inv5 00000 invs
ooboddob00inv20 invdO00O0OO0OO0OOOO
ooooocooooooooon

4.2.3 eqgbool-lemmal JO OO
sCe00000O000O0DOOOOOODOODOOO
Ub000invi00000000000000000
0 egbool-lemmal DO OO ODOODOODOODOODOO
goooooooooooooood
open EQBOOL

op b : -> Bool .

eq b = true .

red egbool-lemmal(b)
close
open EQBOOL

op b : -> Bool .
eq b = false .
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red egbool-lemmal(b)

close

000000000000 0CafeOBJO true0 000
gooscpooOoOoOOOOOOOODODODD
ooooooooo

5 UJoOoOoog

sCeO0000000O00DOODOOOOOOOOO
gooobooboooboobooooooboooooo
gboooooooooooooog
e J00UIOODOUDOD (D)
e JOOODOOOSCPOOOODOIOODDODOO
oo
o NOOOOOOOOOOOOOOOOOODODODO
e JO0UUOUD (DD)LDDLOUDOLLDOUD
e OOODODOO
gobooooooooooooooooobooooo
goooobooboboboebobOOoonoonOOoOoOOn
goobooooooooooooooooooooon
gooooood
1. 00000 CafeOBJO OODOOOOOOODO
goodoooooooooooboobooooo
CateOBJOODOOOOOOODODOOOOOOO
goboooooobooooooon
2. 000000 CateOBJOOOODOOOOOO
goobooooooobooooooooooon
goboooooooooobooooooooon
goood
3. 0000000000000 CateOBJO OO
gbooobooboooobooooooooaon
goooooobooboooooooooboao
CafeOBJOOO0OO0O0O0OOOO0OODOOOOO
gooooooooooo
4. 0Oo0OO0OO0oOOoOoOOOOCOObODOObOO
CafeOBJOOOO0OOOOOOOODOOOOO
gooooooooon
stbbooooooooboooooooooon

goboooobooobooboobbobobon
gooooooooooo
elddpobbooooboboooobbooooo
goo0oooooooooooooboooon
gooboboooboogoo
ooDooooooboooooooooooao
0000004 CafeOBJ Official HomepagehDDDD
CafeOBJ OO OD0OOODOODOODOOODODOOO
oooobOo0ooooooobobobooooog
00 CafeOBJ OO O0ODODOOOOODDOOODO
goooobooo0obOooboooboooboooog
pobooboooobuoobobbooobbooobo
oooobOooobobooobooboobooooag
opooooda

oo

goooooooooooooobooooooooo
gbobbooooooooodon

ooaoao
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